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Chapter 04 A5 A[AEQ| AlZE HF S

[Quick Review]

[1] Ans) O

[2] Ans) Q1343
[3] Ans) O

[4] Ans) %

[5] Ans) O

[6] Ans)

[7] Ans) 2
[8] Ans) A FA
[9] Ans) &
[10] Ans) X
[11] Ans) ¥
[12] Ans) O
[13] Ans) O
[14] Ans) X
[15] Ans) A%
[16] Ans) X

[17] Ans) O
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[18] Ans) So]3l

[19] Ans) O

[20] Ans) O
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4.1
Ans)
(a) V7 A28 bg gk A~
(b) 13} A|=F8 &<k gh Al2~H]
4.2
Ans)
(@ yt)=t—1Dult—1)—t—2)ut—2)—(t—3)u(t—3)=(t—4)u(t—4)
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4.4

Ans)
(a) QHA gk Al =5
(b) EQHA T A28
(c) A Al 2H)

4.5

Ans) (hy (t) % hs(t)+ hy(t)) % hy(t)+ Ry (t) % hy(t)

4.6
Ans)

(@) 54842 © N+5a+6=0A+2)(\+3)=0, IAF A=4

x(2) ¥(2)

(b) 54844 :
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Ang)
(@ yt)=e "+1
(b) yt)=e "+te !
() yt)=2e¢ " —e
(d) yt)=3e "+te "+2
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4.9
Ans)
(@) y(t)=e "—e " +1
(b) yt)=4de " —de ¥ +e %

4.10

Ans)
(a) QFA gk Al =8
(b) Gk A]~H
(c) EQMAS A ~HE
(d) EHgs A ~=H



H2 Sraiorzraial

== P& Hanbit Academy, inc

[&& TA]

4.11

Ans)

(@o0o=t<1l @ ylt)=—t
1=t<2 y(t)=3t—4
2=t<3 :  ylt)=—3t+8

: 1,
M o=t<1 o ylt)=—t"+t
1 5
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l=t<2 y(t)=—t+
: 1,3
25t<3 1 yl)= gt
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4=1<5 0 ylt)= = St+
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9=t<3 1 y)=— L2+ 3
2 2
3=Zt<4 y(t):*t+4
& (1)
° 3/4
1
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4.12
Ans)

(@) —3<t<—1 : yt)=e tFV
—1=t<1 : yt)=e (e t—¢e")
1<t=3 = ylt)=—e D

(b) —2<t<2 y(t):€2(1_e—(t+2))
t=2 oyt)=ef—e )
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y(t)=e(1—e 173)

yt)=e’(1—e ")
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4.13

Ans)
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4.14

Ans)

4.15

Ans)

(@) yt)=e *+4te > +1

—2e M4 2te M4 4get

(b) y(t)



